ON THE EQUIVALENCE OF TWO DIFFERENTIAL EQUATIONS BY MEANS OF REFLECTING FUNCTIONS COINCIDING*

Zhengxin Zhou[†] and Yuexin Yan

Abstract In this article, we discuss the equivalence of two differential systems by using the method of reflecting functions. We obtain some necessary and sufficient conditions under which certain differential equations are equivalent. Given these results, new types of differential systems equivalent to the given systems can be found. We also discussed the qualitative behavior of the periodic solutions of such differential systems. These results are new, in the sense that they generalize previous discussions on the equivalence of differential systems.

Keywords Reflecting function, reflecting integral, μ -integral, equivalence, qualitative behavior.

MSC(2010) 34A12, 34A34, 34C14.

1. Introduction

$$x' = X(t, x), \quad t \in \mathbb{R}, x \in D \subset \mathbb{R}^n, \tag{1.1}$$

which has a continuously differentiable right-hand side and general solution $\varphi(t; t_0, x_0)$. For each such system, the **reflecting function** [4] is defined as $F(t, x) := \varphi(-t, t, x)$. If system (1.1) is 2ω -periodic with respect to t, then $T(x) := F(-\omega, x)$ is the Poincaré mapping of (1.1) over the period $[-\omega, \omega]$. Thus, the solution $x = \varphi(t; -\omega, x_0)$ of (1.1) defined on $[-\omega, \omega]$ is 2ω -periodic if and only if x_0 is a fixed point of T(x), and the character of stability of this periodic solution is the same as this of the fixed point.

In recent years, many scholars have been interested in studying the qualitative properties of the differential system (1.1) by applying the theory of reflecting function and obtained many interesting results [1-14]. Mironenko [4-9] has combined the theory of reflecting function with the integral manifolds theory to discuss the symmetry and other geometric properties of the solutions of some differential systems. Musafirov [10] has studied the case when a linear system has reflecting function which can be expressed as a product of three exponential matrices. Veresovich [11] and Maiorovskaya [3] have established the sufficient conditions under which the quadratic systems have linear reflecting function. Belsky [1,2] has discussed when

[†]the corresponding author.

Email address:zxzhou@yzu.edu.cn(Z. Zhou), yxyan@yzu.edu.cn(Y. Yan)

School of Mathematical Sciences, Yangzhou University, Yangzhou, 225002, China

^{*}The author was supported by the NSF of China under grants 61773017 and 11571301 and the NSF of Jiangsu under grant BK20161327.

the first-order polynomial differential equation is equivalent to the Ricatti equation and Abel equation. Zhou [12–14] has discussed the structure of the reflecting function of some polynomial differential systems, and applied the obtained conclusions to study the qualitative behavior of solutions of such systems.

If the reflecting functions of two differential systems coincide in their common domain, then these systems are said to be **equivalent**. By this one can study the qualitative behavior of the solutions of a complex system by using a simple differential system with the same reflecting function. Unfortunately, in general, it is very difficult to find out the reflecting function of (1.1). How to judge two systems are equivalent when we do not know their reflecting functions? This is a very important and interesting problem! Mironenko in [7–9] has studied it and obtained some excellent results. In this paper, we will improve their conclusions and get some new necessary and sufficient condition under which the differential equations are equivalent.

Definition 1.1. If vector function $\Delta(t, x)$ is a non-zero solution of the differential system

$$\Delta_t(t,x) + \Delta_x(t,x)X(t,x) - X_x(t,x)\Delta(t,x) = \mu(t,x)\Delta(t,x), \qquad (1.2)$$

then $\Delta(t, x)$ is said to be the μ - integral of (1.1). Where $\mu = \mu(t, x)$ is a continuously differentiable scalar function such that $\mu(t, x) + \mu(-t, F(t, x)) = 0$, F(t, x) is the reflecting function of (1.1). In particular, if $\mu \equiv 0$, then $\Delta(t, x)$ is called the **Reflecting integral** [13] of (1.1).

By the Theorem 1 of [6], we know that if $\Delta(t, x)$ is the reflecting integral of (1.1), then the system (1.1) is equivalent to the system

$$x' = X(t,x) + \alpha(t)\Delta(t,x), \tag{1.3}$$

where $\alpha(t)$ is an arbitrary continuously differentiable scalar odd function.

In this paper, we will show that if $\Delta(t, x)$ is the μ -integral of (1.1), then the systems (1.1) and (1.3) are equivalent, too. At the same time, we will prove that when n = 1, the equations (1.1) and (1.3) are equivalent if and only if $\Delta(t, x)$ is the μ -integral of (1.1).

In the following, we will denote $\Delta = \Delta(t, x), \ \bar{\Delta} = \Delta(-t, F(t, x)), \ \bar{X} = X(-t, F(t, x)), \ \bar{\mu} = \mu(t, F(t, x)), \ F = F(t, x), \ \alpha = \alpha(t), \ \alpha_i = \alpha_i(t).$

2. Main Results

Theorem 2.1. If Δ is the μ -integral of (1.1), then the systems (1.1) and (1.3) are equivalent. In addition, if systems (1.1) and (1.3) are 2ω -periodic with respect to t, then the initial conditions at $t = -\omega$ of their 2ω - periodic solutions and their stability characters are the same.

Proof. Let F be the reflecting function of (1.1), by its definition [4] we get

$$F_t + F_x X + \overline{X} = 0, F(0, x) = 0.$$

Then, F is also reflecting function of (1.3), if and only if,

$$F_t + F_x(X + \alpha(t)\Delta) + \overline{X} - \alpha(t)\overline{\Delta} = 0, \ F(0, x) = 0.$$

i.e.,

$$F_x\Delta - \bar{\Delta} = 0.$$

Denote $U := F_x \Delta - \overline{\Delta}$, so U(0, x) = 0. In the following, we will prove that $U(t, x) \equiv 0$. As

$$F_t = -F_x X - \bar{X},$$

 \mathbf{SO}

$$\begin{split} F_{tx} &= -\frac{\partial}{\partial x}(F_x X) - \dot{\bar{\Delta}}_x F_x, \\ \frac{\partial U}{\partial t} &= F_{tx} \Delta + F_x \Delta_t - \dot{\bar{\Delta}}_t - \dot{\bar{\Delta}}_x F_t = F_{tx} \Delta + F_x \Delta_t - \dot{\bar{\Delta}}_t + \dot{\bar{\Delta}}_x (F_x X + \bar{X}) \\ &= -\frac{\partial}{\partial x} (F_x X) \Delta - \dot{\bar{X}}_x F_x \Delta + F_x \Delta_t - \dot{\bar{\Delta}}_t + \dot{\bar{\Delta}}_x F_x X + \dot{\bar{\Delta}}_x \bar{X}. \end{split}$$

Since

$$\frac{\partial U}{\partial x} = \frac{\partial}{\partial x} (F_x \Delta) - \dot{\Delta}_x F_x,$$

thus

$$\frac{\partial U}{\partial t} + \frac{\partial U}{\partial x} X = \frac{\partial}{\partial x} (F_x \Delta) X - \frac{\partial}{\partial x} (F_x X) \Delta - \dot{\bar{\Delta}}_x F_x X - \dot{\bar{X}}_x F_x \Delta + F_x \Delta_t - \dot{\bar{\Delta}}_t + \dot{\bar{\Delta}}_x F_x X + \dot{\bar{\Delta}}_x \bar{X},$$

by the Lemma of [6] we get

$$\frac{\partial U}{\partial t} + \frac{\partial U}{\partial x}X = F_x(\Delta_x X - X_x \Delta) + F_x \Delta_t - \dot{\bar{X}}_x(F_x \Delta - \bar{\Delta}) - \dot{\bar{X}}_x \bar{\Delta} - \dot{\bar{\Delta}}_t + \dot{\bar{\Delta}}_x \bar{X},$$

using this relation and Δ being the μ -integral of (1.1), we get

$$\frac{\partial U}{\partial t} + \frac{\partial U}{\partial x}X + \dot{\bar{X}}_x U = F_x(\Delta_t + \Delta_x X - X_x \Delta) + \overline{\Delta_t + \Delta_x X - X_x \Delta}$$
$$= F_x \mu \Delta - \mu \bar{\Delta} = \mu U, \qquad (2.1)$$

so, U is a solution of the Cauchy problem:

$$U_t + U_x X + (\bar{X}_x - \mu E)U = 0, \quad U(0, x) = 0.$$

By the uniqueness of solution of the initial problem of the linear partial differential equation implies that $U(t, x) \equiv 0$. Therefore, the proof is finished.

Remark 2.1. If $\mu \equiv \mu(t)$ is a continuous odd function, it is not difficult to check that Δ is the reflecting integral of the system (1.1) if and only if $\tilde{\Delta} = e^{\int \mu(t)dt} \Delta(t, x)$ is the μ -integral of the system (1.1).

Remark 2.2. Taking $\mu = 0$ in the above Theorem 2.1, we get the Theorem 1 of [6]. That is said that my theorem is more general than Mironenko's result.

Theorem 2.2. The differential equations (1.1) and (1.3) (n = 1) are equivalent with the reflecting function F(t, x), if and only if, there is a function μ such that $\mu(t, x) + \mu(-t, F) = 0$, and Δ is the μ -integral of (1.1).

Proof. By Theorem 2.1, the sufficiency of the present theorem is correct. Now, we will prove the necessity is correct too. As the equations (1.1) and (1.3) are equivalent,

$$U = F_x \Delta - \bar{\Delta} \equiv 0.$$

Let denote $G = \Delta_t + \Delta_x X - X_x \Delta$, then by (2.1) we get

$$U_t + U_x X + \bar{X}_x U = F_x G + \bar{G} \equiv 0.$$

If tanking $\mu = \frac{G}{\Delta}$, then from the above relations we obtain $\frac{G}{\Delta} = -\frac{\bar{G}}{\bar{\Delta}}$, so $\mu + \bar{\mu} = 0$. Thus,

$$G = \Delta_t + \Delta_x X - X_x \Delta = \mu \Delta,$$

i.e., Δ is the μ -integral of (1.1).

Example 2.1. For the first order differential equation

$$x' = t + t^3 x^3, (2.2)$$

F = x is its reflecting function. It is not difficult to check that for this equation, there is no any reflecting integral Δ in the form of

$$\Delta = r_0(t) + r_1(t)x + r_2(t)x^2 + r_3(t)x^3.$$

But, for this equation there is a cubic μ -integral $\tilde{\Delta} = 1 + x^3$, where $\mu = \frac{3x^2(t-t^3)}{1+x^3}$. Thus the equation (2.2) is equivalent to the equation

$$x' = t + t^3 x^3 + \alpha(t)(1 + x^3),$$

where $\alpha(t)$ is an arbitrary continuously differentiable odd function.

Theorem 2.3. If n = 1 in (1.1), Δ_i (j = 1, 2, ..., m) are the μ_i -integrals of the

first-order differential equation (1.1), then (A). If $\sum_{j=1}^{m} k_j = 1$, then $\Delta = \Delta_1^{k_1} \Delta_2^{k_2} \cdots \Delta_m^{k_m}$ is the $\mu = \sum_{j=1}^{m} k_j \mu_j$ -integral of (1.1), and the equation (1.1) is equivalent to the equation

$$x' = X(t,x) + \sum_{j=0}^{m} \alpha_j(t) \Delta_j,$$
 (2.3)

where $\alpha_j(t)(j = 0, 1, 2, ..., m)$ are arbitrary continuous odd functions. (B). If $\sum_{j=1}^m k_j = 0$ and $\sum_{j=1}^m k_j \mu_j = 0$, then

$$\Delta = \Delta_1^{k_1} \Delta_2^{k_2} \cdots \Delta_m^{k_m} = c$$

is the first-integral of (1.1), where c is an arbitrary constant.

(C). If Δ_1 is a μ -integral of (1.1), then Δ also is the μ -integral of (1.1), if and only if, $\Delta = \Delta_1 \phi(u)$, where u = u(t, x) is the first integral of (1.1), ϕ is a continuously differentiable function.

Proof. (A). As Δ_j (j = 1, 2, ..., m) are the μ_j -integral of the first-order equation (1.1) and $\sum_{j=1}^{m} k_j = 1$, then

$$\Delta_{jt} + \Delta_{jx}X = (X_x - \mu_j)\Delta_j (j = 1, 2, ..., m),$$

so,

$$\Delta_t + \Delta_x X = \sum_{j=1}^m k_j \Delta_1^{k_1} \cdots \Delta_j^{k_j-1} \cdots \Delta_m^{k_m} (\Delta_{jt} + \Delta_{jx} X)$$
$$= (\sum_{j=1}^m k_j X_x + \sum_{j=1}^m k_j \mu_j) \Delta = (X_x + \mu E) \Delta, \qquad (2.4)$$

i.e., Δ is the $\mu = \sum_{j=1}^{m} k_j \mu_j$ -integral of (1.1). By Theorem 2.1, the equations (1.1) and (2.3) are equivalent.

(B). Since $\sum_{j=1}^{m} k_j = 0$ and $\sum_{j=1}^{m} k_j \mu_j = 0$, using (2.4), we get

$$\Delta_t + \Delta_x X = 0.$$

It implies that $\Delta = c$ is the first-integral of (1.1).

(C). Necessity: If Δ_1 and Δ are the μ -integrals of (1.1), then

$$\Delta_{1t} + \Delta_{1x}X - X_x\Delta_1 = \mu\Delta_1,$$
$$\Delta_t + \Delta_x X - X_x\Delta = \mu\Delta.$$

From these relations we get

$$(\frac{\Delta}{\Delta_1})_t + (\frac{\Delta}{\Delta_1})_x X = 0,$$

it implies that there exits a continuously differentiable function ϕ such that $\frac{\Delta}{\Delta_1} = \phi(u)$, i.e., $\Delta = \Delta_1 \phi(u)$, where u = u(t, x) is the first integral of (1.1).

Sufficiency: If Δ_1 is the μ -integral of (1.1) and $\Delta = \Delta_1 \phi(u)$, then

$$\Delta_{1t} + \Delta_{1x}X - X_x\Delta_1 = \mu\Delta_1, \ u_t + u_xX = 0.$$

So,

$$\Delta_t + \Delta_x X - X_x \Delta = (\Delta_{1t} + \Delta_{1x} X - X_x \Delta_1)\phi(u) + \phi'(u)(u_t + u_x X)\Delta_1 = \mu \Delta_1 \phi(u) =$$

i.e., Δ is the μ -integral of (1.1). The proof is completed.

Remark 2.3. By Theorem 2.3 we see that for the first -order differential equation (n = 1), if there is a μ -integral Δ_1 , then we know its all the μ -integral have the form $\Delta = \Delta_1 \phi(u)$, where u is the first integral.

Theorem 2.4. Suppose that u(t, x) and Δ are respectively the first integral and the reflecting integral of $(1.1)(n \ge 1)$. Then $\tilde{\Delta} = \Delta e^{\phi(t, u(t, x))}$ is the μ -integral of (1.1), and the system (1.1) is equivalent to the system

$$x' = X(t,x) + (\alpha_1(t) + \alpha_2(t)e^{\phi(t,u(t,x))})\Delta,$$
(2.5)

where $\alpha_1(t)$ and $\alpha_2(t)$ are the arbitrary continuously differentiable odd functions, $\phi(t, u)$ is a continuously differentiable function such that $\phi(t, u) = \phi(-t, u), \mu = \frac{\partial \phi(t, u)}{\partial t}$.

Proof. By the above assumptions, we get

$$\Delta_t + \Delta_x X - X_x \Delta = 0, \quad u_t + u_x X = 0,$$

so,

$$\tilde{\Delta} + \tilde{\Delta}_x X - X_x \tilde{\Delta} = \phi_t \tilde{\Delta},$$

i.e., $\tilde{\Delta}$ is the $\mu = \phi_t$ -integral of (1.1). By Theorem2.1, the present conclusion is correct.

Remark 2.4. Obviously, from Theorem 2.4 we find some new types of systems, such as system (2.5), which are equivalent to the system (1.1).

Remark 2.5. From Theorem 2.4, we know the Hamilton system

$$\begin{cases} x' = H_y(x, y), \\ y' = -H_x(x, y) \end{cases}$$

is equivalent to system

$$\begin{cases} x' = H_y(x, y)(1 + \sum_{i=1}^n \alpha_i(t)e^{\phi_i(t, H(x, y))}), \\ y' = -H_x(x, y)(1 + \sum_{i=1}^n \alpha_i(t)e^{\phi_i(t, H(x, y))}), \end{cases}$$

where $\alpha_i(t)$ are continuously differentiable scalar odd functions, $\phi_i(t, H)(i = 1, 2, ..., n)$ are arbitrary continuously differentiable functions such that $\phi_i(t, H) = \phi_i(-t, H)$.

Example 2.2. It is not difficult to check that

$$\Delta_1 = \begin{pmatrix} y \\ -x \end{pmatrix}$$

,

and

$$\Delta_2 = \begin{pmatrix} x(x^2 + y^2) \\ y(x^2 + y^2) \end{pmatrix}$$

are the reflecting integrals of the following system

$$\begin{cases} x' = y + x(x^2 + y^2)\cos t, \\ y' = -x + y(x^2 + y^2)\cos t. \end{cases}$$
(2.6)

 $u = 2 \sin t + (x^2 + y^2)^{-1}$ is the first integral of the system (2.6). Taking

$$\phi_i(t,u) = \frac{\beta_i(t)}{4+u} = \frac{(x^2+y^2)\beta_i(t)}{1+2(2+\sin t)(x^2+y^2)}, \ \mu_i = \frac{(x^2+y^2)\beta_i'(t)}{1+2(2+\sin t)(x^2+y^2)} (i=1,2), \ \mu_i = \frac{(x^2+y^2)\beta_i'(t)}{1+2(x^2+x^2)} (i=1,2), \ \mu_i = \frac{(x^2+x^2)\beta_i'(t)}{1+2(x^2+x^2)} (i=1,2), \ \mu_i = \frac{(x^2+$$

then $\tilde{\Delta}_i = e^{\phi_i} \Delta_i (i = 1, 2)$ are the $\mu_i (i = 1, 2)$ -integrals of (2.6), where $\beta_i(t)(i = 1, 2)$ are the arbitrary continuously differentiable even functions. Thus, the system (2.6) is equivalent to the system

$$\begin{cases} x' = x(x^2 + y^2)[\cos t + \alpha_1 + \alpha_2 e^{\phi_2}] + y[1 + \alpha_3 + \alpha_4 e^{\phi_1}], \\ y' = y(x^2 + y^2)[\cos t + \alpha_1 + \alpha_2 e^{\phi_2}] - x[1 + \alpha_3 + \alpha_4 e^{\phi_1}], \end{cases}$$
(2.7)

where $\alpha_i (i = 1, 2, 3, 4)$ are the continuously differentiable odd scalar functions.

The reflecting function of the systems (2.6) and (2.7) is

$$F = \frac{1}{\sqrt{1 + 4(x^2 + y^2)\sin t}} \begin{pmatrix} \cos 2t - \sin 2t \\ \sin 2t & \cos 2t \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}.$$

Thus, all the solutions of the systems (2.6) and (2.7) defined on $[-\pi,\pi]$ are 2π -periodic, when $\alpha_i(t+2\pi) = \alpha_i(t)(i=1,2,3,4)$ and $\beta_j(t+2\pi) = \beta_j(t)(j=1,2)$.

Corollary 2.1. If $x\varphi_x + y\varphi_y = 2\varphi$, then the system

$$\begin{cases} x' = y + x\varphi(x, y), \\ y' = -x + y\varphi(x, y) \end{cases}$$
(2.8)

is equivalent to the system

$$\begin{cases} x' = y + x\varphi(x, y) + (\alpha_1 + \alpha_2 e^{\phi(t, u)})x(x^2 + y^2), \\ y' = -x + y\varphi(x, y) + (\alpha_1 + \alpha_2 e^{\phi(t, u)})y(x^2 + y^2), \end{cases}$$
(2.9)

where $u = t - \arctan \frac{x}{y}$, $\phi(t, u)$ is a continuously differentiable function and $\phi(t, u) = \phi(-t, u)$, $\alpha_i(i = 1, 2)$ are the arbitrary continuously differentiable odd functions.

In addition, if the system (2.9) is 2π -periodic with respect to t, then the qualitative behavior of the 2π - periodic solutions of (2.8) and (2.9) with the same initial conditions at $t = -\pi$ are the same.

Proof. It is not difficult to check that $\Delta = \begin{pmatrix} x(x^2 + y^2) \\ y(x^2 + y^2) \end{pmatrix}$ and $u = t - \arctan \frac{x}{y}$

are respectively the reflecting integral and the first integral of the system (2.8), by Theorem 2.4 the present corollary is correct. $\hfill \Box$

Example 2.3. The system

$$\begin{cases} x' = y + x(a_1x^2 + a_2xy + a_3y^2) = P(x, y), \\ y' = -x + y(a_1x^2 + a_2xy + a_3y^2) = Q(x, y) \end{cases}$$
(2.10)

has the first integral $u = \arctan \frac{y}{x} - t$ and the reflecting integral

$$\Delta = \begin{pmatrix} x(x^2 + y^2) \\ y(x^2 + y^2) \end{pmatrix}.$$

If taking

$$\phi_1 = \ln \frac{e^{\cos t}}{1 + \tan^2 u}, \quad \phi_2 = \frac{\gamma(t)}{2 + \cos^2 u},$$

then

$$\tilde{\Delta}_1 = e^{\phi_1} \Delta = e^{\cos t} (x \sin t + y \cos t)^2 \begin{pmatrix} x \\ y \end{pmatrix}$$

and

$$\tilde{\Delta}_2 = e^{\phi_2} \Delta = e^{\frac{\gamma(t)(x^2 + y^2)}{3(x^2 + y^2) + xy \sin 2t}} \begin{pmatrix} x(x^2 + y^2) \\ y(x^2 + y^2) \end{pmatrix}$$

are respectively the μ_1 -integral and μ_2 -integral of (2.10), where $\mu_1 = -\sin t$, $\mu_2 = \frac{\gamma'(t)(x^2+y^2)}{3(x^2+y^2)+xy\sin 2t}$. Thus the system (2.10) is equivalent to the system

$$\begin{cases} x' = P(x, y) + \alpha_1 e^{\cos t} x (x \sin t + y \cos t)^2 + (\alpha_2 + \alpha_3 e^{\phi_2}) x (x^2 + y^2), \\ y' = Q(x, y) + \alpha_1 e^{\cos t} y (x \sin t + y \cos t)^2 + (\alpha_2 + \alpha_3 e^{\phi_2}) y (x^2 + y^2), \end{cases}$$
(2.11)

where $\alpha_i (i = 1, 2, 3)$ are the arbitrary continuously differentiable odd functions, $\gamma(t)$ is an arbitrary continuously differentiable even function, $a_i (i = 1, 2, 3)$ are constants. If $\alpha_i (t + 2\pi) = \alpha_i (t) (i = 1, 2, 3)$ and $\gamma(t + 2\pi) = \gamma(t)$, then the qualitative behavior of the 2π -periodic solutions of the initial conditions at $t = -\pi$ of the above two equivalent systems are the same.

Remark 2.6. By this example, one can study the qualitative behavior of the solutions of a complicated system (2.11) by using a simple differential system (2.10).

References

- V. A. Belsky, On the construction of first-order polynomial differential equations equivalent to s given equation in the sense of having the same reflective function, Differ. Uravn., 2012, 48(1), 13–20.
- [2] V. A. Belsky, On Quadratic Differential Systems with Equal Reflecting Functions, Differ. Uravn., 2013, 49(12), 1639–1644.
- [3] S. V. Maiorovskaya, Quadratic systems with a linear reflecting function, Differ. Uravn., 2009, 45(2), 271–273.
- [4] V. I. Mironenko, Analysis of reflective function and multivariate differential system, University Press, Gomel, 2004, 59–80.
- [5] V. I. Mironenko, The reflecting function of a family of functions, Differ. Uravn., 2000, 36(12), 1636–1641.
- [6] V. V. Mironenko, Time symmetry preserving perturbations of differential systems, Differ. Uravn., 2004, 40(10), 1395–1403.
- [7] V. I. Mironenko and V. V. Mironenko, *Time symmetries and in-period trans*formations, Applied Math. Letters, 2011, 24, 1721–1723.
- [8] V. I. Mironenko and V. V. Mironenko, How to construct equivalent differential systems, Applied Math. Letters, 2009, 22, 1356–1359.
- [9] V. I. Mironenko and V. V. Mironenko, Time symmetry preserving perturbations of systems and Poincare mappings, Differ. Uravn., 2008, 44(10), 1347–1352.
- [10] E. V. Musafirov, Differential systems, the mapping over period for which is represented by a product of three exponential matrixes, J. Math. Anal. Appl., 2007, 329, 647–654.
- [11] P. P. Veresovich, Nonstationary two-dimensional quadric systems which are equivalent to a linear system, Differ. Uravn., 1998, 34(12), 2257–2259.

- [12] Z. Zhou, On the symmetry and periodicity of solutions of differential systems, Nonlinear Analysis: Real Word Applications, 2014, 17, 64–70.
- [13] Z. Zhou, On the Structure of the Equivalent Differential Systems and their Reflecting Integrals, Bull Braz Math Soc, New Series, 2017, 48, 439–447.
- [14] Z. Zhou, The theory of reflecting function and application, China Machine Press, Beijing, 2014, 200–220.